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1. mEhERE
ReEWE 506,351 173,222 333,129
RKPAE 7,500 11,532 A 4032
MEVEESE W 513,851 184,754 329,097
2. BEEE
(1EKBE
TEHES 57,000,000 57,000,000 0
EARBIESE B) 57,000,000 57,000,000 0
@QFDthOBEEE
HEES 5,813,785 6,364,785 A 551,000
EARE 30,000,000 30,000,000 0
TOMOBEEESE (O 35,813,785 36,364,785 A 551,000
BIEEESF (D)=B)>+(C) 92,813,785 93,364,785 A 551,000
HEES (E)=(A+D) 93,327,636 93,549,539 A 221903
I 8EOCH
1. REBAE
*iIE 143,310 149,956 A 6,646
REIBESE P 143,310 149,956 A 6,646
2 BEEAE
BIE&ESI @ 0 0 0
BESH H=PHG) 143310 149,956 A 6,646
Il IESRBFEDED
1. {8 EnkBLE
HEIERMESS O=(B) 57,000,000 57,000,000 0
OBEKRME~DIE L (57,000,000) (57,000,000) (0)
OB EEE~OFTLEE) (0) (0) {0)
2. —fRIERRBAE (J)=(E)-(H)-(D) 36,184,326 36,399,583 A 215,257
EREARESET (K)=(+) 93,184,326 93,399,583 A 215257
RERUVEKRBIESEH L=(HH+K) 93,327,636 93,549,539 A 221,903
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1. RENVEE
HeHEE 2,117,948 1,895,004 222,944
RIRAS 498,797 120,819 377,978
RBEESR (A) 2,616,745 2,015,823 600,922
2. EEEE
(1) ZTDOhEEE E
TOMBEIEEESE B) 0 0 0
BEEEEIT (C)=B) 0 0 0
FESE (D)=(A+(C) 2,616,745 2,015,823 600,922
I BEDE
1. RBAE
k(& 6,396,634 4,582,809 1,813,825
RIVHBIRSE 341,700 535,600 A 193,900
RGEAFE 116,000 188,600 A 72,600
BY& 221,961 286,514 A 64553
REIAESE 6 7,076,295 5,593,523 1,482,772
BIESET P=E) 7,076,295 5,593,523 1,482,772
I IERRBLRE DER
1. {EEIERREAE
IBEERMESE (@ 0 0 0
OLEXRUEADTLE) (6) 0 (0)
OLBEEEADI L) (0) () (0)
2. —RIERRBAE (H)=(D)-(F)~(Q®) A 4459 550 A 3,577,700 A 881,850
IEEBA SR (D=(G)}+(H) A 4,459,550 A 3577,700 A 881,850
RERUVIEKRBESST (D)=(F)+D 2,616,745 2,015,823 600,922
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1. EhEE
HeHES 506,351 2,117,948 2,624,299
FIRAE 7,500 498,797 506,297
RBEESR W 513,851 2.616,745 3,130,596
2. EEEE
(DEKBE
EHEE 57,000,000 0 57,000,000
FEAKRBIESE B) 57,000,000 0 57,000,000
OZTOOBREEE
EaES 5,813,785 0 5,813,785
EHITAE 30,000,000 ] 30,000,000
TOMOEEEESET (C) 35,813,785 0 35,813,785
BlE&ESE (D)=(B)+(C) 92,813,785 0 92,813,785
BEAS E=AHD) 93,327,636 2,616,745 95,044,381
I REDS
1. REIBE
FihE 143,310 6,396,634 6,539,944
RIHEBERZE 0 341,700 341,700
RIGEATE 0 116,000 116,000
HEYE 0 221,961 221,961
EBRESE P 143,310 7,076,295 7,219,605
2. BxEBE
BEBESF @ 0 0 0
BESEH H=(F+QG) 143,310 7,076,295 7,219,605
I IEBRBAFEDER
1. {5 E ERBARE
FEEERBIERE O 57,000,000 0 57,000,000
OBERBFEADITELED (57,000,000) (o) (57,000,000)
OLREAE~DTUE) (0) (0) (0)
2. —HRIEREBTE (U)=(E)-(H)-D 36,184,326 A 4,459 550 31,724,776
EREAESE (K=)+() 93,184,326] A 4,459,550 88,724,776
BERVEKMEST L=(H+HK) 93,327,636 2,616,745 95,044 381




